o= -8 EolA o7t 10 & o, o= Eurdy7E?
ol 2 3 4 5 6
A|16 |24 | 32|40 | 48

v
m



R

oW

oM o7tod o, as

=2

&

op

28 | 35 | 42

14 | 21

A




oA %k o kol 514w, O 9 g2 Eutdy7?

e e
Ol|2] 4 6 8 | 10 | 12
* | 6|1 18 | 24 | 30 | 36




the B EAA A9 the] 57bas AL W, FA Lk BE F
afe) U7

7@ (ure]) [2]3[4[5][6] -
71 o] 4=(70) |8 12(16 |20 |24 - --

=5 u}-2]



o
XK
o
N

10

4168

2

]




6. The oleEAH 07t 129 o, Ak Aubeduiz}?
ol 2 3 6 7 9
A 12|18 |36 | 42 | 54

v
m



ot

o2, >
Mo

a

DO

1L

07N

7
™
=

b

i

3
=
=

3} 5430 Lhiro] Hg4 Ut Wl 4702 | ZHirk
gz Lk

A



o] 15 4ol



13

12

11

10

A9

@ aAr=0+8 ® ar=0-8

® a

DO ar=0+4

ox3

@ Ar=0-2



U

8

el

ERd

)

gl g7

=S
L.

A



